
SAP ABAP table V_LWKCN {Generated Table for View}

V_LWKCN

MANDT [CLNT (3)]

LOCAT [CHAR (4)]

RZONE [CHAR (10)]

ACTVY [CHAR (2)]

TMUOM [UNIT (3)]

LACTY

MANDT [CLNT (3)]

LOCAT [CHAR (4)]

ACTVT [CHAR (2)]
 V_LWKCN-ACTVY = LACTY-ACTVT 0..N

1

LLOCT

MANDT [CLNT (3)]

LOCAT [CHAR (4)]
 V_LWKCN-LOCAT = LLOCT-LOCAT 

0..N

1

LZNDF

MANDT [CLNT (3)]

LOCAT [CHAR (4)]

RZONE [CHAR (10)]

 V_LWKCN-RZONE = LZNDF-RZONE 

0..N

1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 V_LWKCN-TMUOM = T006-MSEHI 

0..N

1


